s () INEAREI =1 TH141%6 73, 600 I EREREEMT AL A2 TH 8 6 4% 81, 100/
- 1 9 A 0.3 % e 0.0 %
MgpE1—10—21] e MEAH 2 —9— 3] Y
961 103nt
IR EIESERT
dE, i
%E\c,—j—/ B R
LL\LLL\L il
LY
\
\
£
== ;
B L TN
111 5 FE#R BT 1km 1. 1km
B8 () TN BB R ST s KEE6 0 4% 3 73, 000 I EREREEMT B 1 TH 3 8 3% 89, 800
-3 8 0.0 O/ 11 . A 0.2 O/
100t wmHEE L 197nd
R 5 peem
&
- & .
iﬂliﬂ%% /\ EBRE
NI &>
AL
WETE sy
(LI BB 550m IR ESKHRIENT T
s () I BRRE BERT BT s 3 7 % 4 4% 24, 4004
9 -1 o
ALl It 0.0 %
304, 67217
i
8
;‘IJ_@‘
BRI i+

B PR EET
RS =




